mathrm a'N

=
00]
o

U’*III|III|III|III|III|III{_

mathrm d
TR

o

o

ap
AN
)

pmathrm d
=T [N
o N
o o

(0]
o
(T TTTTTT

(©))
o

Ratio to CMS
[N

mathrm d N / mathrm d

0.5

S

x18900 GeV pp

Groomed thrust)\_Zl (charged only) (CMS jet substructure)

m CMS
—4— Pythia 8.308 default

—4— Pythia 8.308 default-noCR

IIII|IIII|IIII__III|III|III|III|III|III|III|III|III|III|III1_

Rivet 3.1.10, = 3.4M events

1
0.5

mcplots.cern.ch [arXiv:1306.3436]

N

0.5

groomed thrust (charged-only)



	Contents
	Page 1


